N = 0 &F & Z M A
2009EE £ 18 LWEI MO ~ A
SN MY
M A0 FUBBALA BE T3
Sl MRS FOIMEX (9l &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 713 o HRs2
AE 553,641 559, 141 25,500
AEH F0HZIMHIA 25 235 185,032 155,815 AT83
SEE FOMEXA 185,032 155,815 AT83
AEH FOTHBEHE 49,670 49,770 A100
301 EtEA = 49,670 49,770 A100
10 EAAHIBAS 900 1,000 A 100
OLS U HAIS FHT AYIL
2 & 900,000& 900 1,000 A 100
AEH FA2g 2] 50,289 47,323 2,966
201 Lty 21,549 23,943 A2,394
02 =234l 21,549 23,943 A2,394
OSES23 XA Z2& 11,814,000 11,814 13,126 A1,312
OAEEH Sl 2T 4,408,0002 4,408 5,490 A1,082
401 A EHIL 204 25,360 20,000 5,360
01 Al&t| 25,360 20,000 5,360
ONZH HAFS TC| ZHBA
5,000, 000& 14 5,000 0 5,000
OMBIPIAIRA HAF AU EA
1,000,000& * 14! 1,000 0 1,000
OHAIRA: dES WHSAM BE 4,610,000& 4,610 5,000 A 390
OHAIRA EA EFZA 23 4,750,000 4,750 5,000 2250
SEE HdZXH 49,433 52,722 A 3,289
201 et 18,965 21,072 A2,107
01 AtS22iHl 10,116 11,240 A1,124
Ogel=gH| 23 7,626,000 7,626 8,750 AT,124
02 =234l 8,849 9,832 A983
OXtegs Xl 2 & 5,849,000& 5,849 6,832 A 983
202 O4Hl 25,920 28,800 22,880
01 =W 25,920 28,800 A2,880
OJI=HR430iHI(1621)  HF 25,920,0009 25,920 28,800 A2,880
405 KH&HFSHI 4,548 2,850 1,698
01 AL S EFSHI 4,548 2,850 1,698
OPC 1,300,000 = 1CH 1,300 0 1,300
OdioIdEgH 700,000 *1CH 700 0 700
odH=z Z & 360,000& 360 400 A40
OLIES] 2 2,038,000 2,038 2,300 A262
AEE A2 22X 5,640 6,000 A 360
405 AHoHESHI 5,640 6,000 A 360
01 RHAUSEH S| 5,640 6,000 360
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Ooladaeld| 2 & 5,640,000 5,640 6,000
AEH HF2E S 90,832 95,549
SEH Jl=ZHl 44,198 48,915
AEH JI=ZHl 44,198 48,915
201 LEH2HH| 8,923 9,915
01 AtS2t2ibl 8,923 9,915
ORAM2E+=2Hl 2 & 6,504,000 6,504 7,227
O=gHl 23 2,419,000 2,419 2,688

01l 27,720 30,800

=LHO I 27,720 30,800
OJl=2d =0l Z& 25,920,000 25,920 28,800
o220l Z& 1,800,000 1,800 2,000

A&k S 7,555 8,200
AL =S FHSHI 7,565 8,200

OFC 23 3,678,000 3,678 3,900
OdoId =g d 2% 1,327,000 1,327 1,400
ooza TV Z2& 1,430,000 1,430 1,500
Og=sidblaa d& Z & 320,000& 320 700
OXsSEIl + 230,000 = 1CH 230 0
Ogtla JrAdelx Z2& 170,000& 170 200
OCIXIEtoict &3 400,000 400 500




